Second Term Quiz
Name /	             Group/  

Complete this article. Use the correct form of these verbs with the appropriate modal.
[bookmark: _GoBack]NB. Use just the modals that express the degree of certainty
         Be- die out -   cause-   cause-   provide –destroy-    be-   collide-  kill -  know

       Many people think that because the dinosaurs died out so many years ago, we ………..never ………what really happened to them. In fact, there are several theories.  Some scientists claim that a single event ……………these enormous reptiles. They believe that a large asteroid …………..with the earth about 65 million years ago and that the impact resulted in dramatic climate change. There is some evidence for this theory: in the Yucatan peninsula in Mexico there is an enormous crater measuring ten to sixteen kilometers across, which ………………..caused by an asteroid strike.
       Other scientists say that this theory …………….the whole truth and that a single event – even one as cataclysmic as an asteroid strike- …………………..all the dinosaurs to die out at once/ they think that in future other evidence …………….provide us with important clues about conditions on Earth at the time of the great extinctions. They speculate that intense volcanic activity …………..the Earth’s climate to change and this …………….the dinosaurs’ natural habitats.
       And finally, a large number of scientists think that the dinosaurs …………at all. They claim that today’s birds ………………the descendants of the dinosaurs- and there is some very persuasive anatomical evidence to back up their claim. If you would like to find out more about the subject, there are a number of very interesting websites.

